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[23] (1) 5a*b(a—5b) (2) 3ab(3a*+ab—0b) 3) ala+b+c)
(4) (2a+0b)a—3b)

[24] 1) (x+9° 2 (a—8p)* (@) Ba+1)* () (5a—6b)°

5 (=47 (6 Flx=2

[25] (1) (5a+8)(5a—38) 2) (Tx+4y)(7Tx—4y) 3) 2(3a+2b)(3a—2b)
(4) Sala+2b)(a—20)

[26] 1) (x+4)(x+12)  (2) (x+3)(x—6) (3 (x—3y)(x+5y)
(4) (y—2x)(y—8x)

[27] 1) (x+1)(5x+2) 2) (a—3)(3a—1) @) (a—95)(2a+3)
4) (x+95(3x+2) 5 (a+3)(4a—-9) 6) (3x—4)(4x—3)
(7) (a+2b)(5a—3D) 8) (2x—3y)(3x+4y)

[28] 1) (x+y=3)(x—y=3) 2) (x+y—=2)(x—y+2)
3) (2x+2y—1)(2x—2y+1) 4) (x—y+3z)(x—y—32)

[29] 1) (x+4hx+5 @) (x—y+3)(x—y—14
3) (2x+2y+1)(3x+3y—4)
4) (x—y—2z2)(x—y—4z) 5) (a+b+4c)* 6) (x+y+3)(x+y—5)
(7) (x+3y+2z)(x+3y—32)

[30] 1) (P43 x+4) x—4) 2 (*+Dx+1Dx-1)
(3) (a+2b)(a—2b)2a+3b)(2a—3b)

1
9
3) 2(x—4y)(x+18y) 4) (x+a)x—Db) 5 Bx+1)(5x—3)
6) (x+3»(3x+2y)

[31] (1) 2b%3a+2bc)(3a—2bc) (2) —(6a+b—c)ba—b+c)
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[32] 1) 2x+1)(4x*=2x+1) (20 (4x—3)(16x%+12x+9)
3) (3x+5y)(9x2—15xy+255?)

[33] @& (1) (ax—0b)(bx—a) (2) (ax—0by)(bx+ay)

[34] @& (1) (x+1)(x—2)(x+3)x—4) (2 (x+DAx—1)(x+3)

[35] 1) (x=Dy—-1 @2 (a+c)b—d) @) (x=5)(—x+3y—9)
4) (e+1D(a—1)(0+1) 5) (a+d)(a+b+2c) 6) (x—2)2x+2y+1)

[36] 1) (x+y+4h(x+2y-3) (2) (x+y—=5)x+2y—1)
3) (x—y+1)(x—y—2) 4) (x4+2y+3)(2x+y—2)
5) (x+y+4)(2x—y—1) 6) (x+3y—2)(2x— y+3)

[37] 1) —(a—>b)b—c)(c—a) 2) (a+b+c)ab+bc+ca)

[ 51 &E2] (22 +x—3)(x2—x—3)

[38] 1) (2?4 x+2)(x2—x4+2) (2 (#2+2x—1)(x2—=2x—1)
3) (x*+4xy—y)(x®—dxy—y?) (&) (2°42xy+2y°)(x*—2xy+2y%)

[39] 1) (x=1)x+2)(x2+x+1)(x2—2x+4)
2) (x+yx— x>+ xy+ y*) (x> —xy+ »?)

[ 17E3] 1) (x=20°  (2) (x+2)(x—2)(x—3)

[40] 1) (x+y° (@) (2a—0)

[41] 1) (x+2)(x—2)x—5) 2) 2x+1)(4x*+x+1)
3) (x+2y9)(x—2y)(y—2) 4) (a’+ab+b)a’—ab+c)

[ f5i]R54]) (x%+5x+3)(x*+5x+7)



ASTEP (3 1) R¥EofiF

[42] 1) (x—2)(x—6)(x*—8x+10) 2) xx+3)x*+3x—2)

[43]) 1) a*+0b3 2) (a+b+c)a’+b%+c®—ab—bc—ca)
B (7) (x+y+Dx*—xy+y°—x—y+1)
() (@a—2b+2)a?+2ab+4b%—2a+4b+4)



